TESIHET ) PEd 87 P & PR B fIFaR d qHI8U
ETSSIBEH] & {0 6 wh-Uh IR JAfifhand oft wHes)

What is Hydrocarbon? Explain in brief the type of hydrocarbons.
Explainl-1 method of preparation of hydrocarbon.

TehIT & TRTA el 3uade ol IRaR W TN GRT FHV |

Explain in brief the refraction and reflection of light by

experimentally.

W St vd Rl Y v o B RSy der 3 aiy @ arE
JHATSUI

Explain the primary and secondary growth in dicot stem & root
with diagram.

YT F IMER AT deAT IRTTROT T BT Al A=A
Explain the Earthworms diet shoe and circulatory system with
diagram

400
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¥ us - ‘I’ / Section 'A’

FKICTERRIGID U (D& <H) /VERY SHORT ANSWER TYPE QUESTIONS (ANY TEN)

(i)

(i)

(iii)

(iv)

(v)

(vi)

(vii)

(10x 1=10)
cafty ok At TR ot i et 27

Why sound waves are longitudinal in nature?

foredT oiF &Y 1 STS3MTex &odT o aRuTfa Il

Define 1 diopter capacity of lens.

TSN 74 H 3MUBT FIT ARIT 872
What do you mean by hydrogen bond?
CH, -C - CH, &1 IUPAC AT feifau |
CHCH,
What is IUPAC name of CH, - (Ii - CH,.
CHCH,
qRTSe I et 9T A Fica JAeT fham ST 87

How many sections in the brain divided studies into?

SFTIR T DRI DIV Frgfer FH0T Prell 87

Which cells produce insulin in the pancreas?

grfery @ram 87

What is power?

(i) $.9.3./PT.0.



(viii)

(ix)

(x)

(xi)

(xii)

(xiii)

(xiv)

(xv)

(xvi)

T Moty U &t aepd i afRumer forfRau)

Define the curvature of a curved mirror.

g TAT IAHT A8 W @ et g & 919 o dTel THeaTdsur 9o
I GROMHT ST IfvITI/ What is the magnitude of the gravitational

force between the earth and a 1 kg object on its surface.

o ZR'&I’CB @ T 82/ What are transvrains elements?
g IRR P SA T g1 TfSF DT 87

What is the second large gland of human body?

SI.T9.U. @1 URT 9 F7 81aT 8?2/ What is the full name of DNA?
Mol 3P T JTaret I a1 57

What is mulanupati formula of oxalic acid?

UfqeATes Td a=aHigs fha Joft & o &7

What groups are the lanthanides and actinides in?

KR s 7T 2/ What is Baeyer's reagent?
HUse 7 T 9 IR AT YART b ST e @ ST | aar £

What are the botanical names of plants which used of Mendel's

experiments.

gus - ‘¥’ / Section 'B'

ERRI® U (DK Ui)/ Short Answer Type Question (Any five) 5x3=15

9. 1.

9. 2.

UTST ST T i Tep_uT gaTsyl

Explain the classification of plant kingdom.

HISCIPIf-SAT AT P BT P AT

Explain mitochondria and its function.

(ii)

U. 3. Ucdrgd a9 & oig af fafemr faRgu

Write down the any two meetod of preparation of alekhine.

U. 4. PEPH Aol & i B garsul

Explain the classification of organic compounds.

0. 5. Seritexor ififehar oam 87 21 SereRur S|

What is Neutralisation reaction? Give two example.

9. 6. Hawul i FHEd § qAT S-P HawUl Dl IER0T Afed AL
What is Hypridization and explain with example of S-P Hypridization.

T. 7. SN U gl fopil Gegde m 1 10ms? ol @Rl <l & eIl Segd
m, @ 10ms? &l TR <l §1 3FR 41 SedI bl e Aref frer feam
T, O 39 97 P GINT FIT RUT ST BRI ?

A force of SN gives a mass m_ an acceleration of 10m/s? and m,
an acceleration of 10m/s?. What acceleration would it give if both

masses were tied?

U 8. faell el TR @ SR 2 KH, 3R S9! a¥Teed 35em &1 ¥ 1.5 km
0 =  febeT e 2wt/ A sound waves has a frequency of 2 KH,
and wave length is 35 cm. How long will it take to travel 1.5 km.

Tus - ‘| [ Section 'C'

e w9 (@1 <fiF)/Essay Type Question (Any Three) 3 x 15=45

9. 1. T WRE B RIGIT FIT 5° TR g D R W T wRhfud i)
TRy 6 =g & o a9 9 g8 Rrgia Fifza 2

What is principle of conservation of momentum? To prove that
Newton's laws relate to the law of conservation of momentum.

Explain it is principle to drive Newton's third law.

(i)



9. 8. FATHER H Y FT TR &2

What do you mean by Profiteering?

gus - |’/ Section 'C'
ferarH® ued (@1 )/ ESSAY TYPE QUESTIONS (ANY THREE)
3x15=45
Y. 1. dIYEE a1 §° qIGATSH Pl AeH TG AXAAT B quie |

What is pressure? Describe the composition and structure of
atmosphere.

g, 2. (@R I grfe HifT @1 guiF @
Describe the Akber's Religious Policy.

9. 3. 1857 §. &l i<l & U@ PRON P qui |

Describe the main reasons for the revolution of 1857.

9. 4. RS & qa1 1fUBR & =af |

Discuss the Basic Rights of citizen.

. 5. SN I 3T 7 FHAT &2 TP PR UG ST Pl o/t vl

What do you mean by Unemployment? Discuss the cause and
solution of this.
* 0

129 Q. Paper Code : BPPO4
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¥ us - ‘I’ / Section 'A’
JAfcieTeRRIcH® U1/ VERY SHORT ANSWER TYPE QUESTIONS (ANY TEN)
(10x1=10)

U. 1. I & Fad 87

What is Pressure/airy?

T, 2. UqT H Y T THe 87

What do you mean by wind?

. 3. o G919 F 99 o]

Write the name of water source.

Y. 4. 'HIed O ISCT ST DI | Iog H T 89

In which state is 'Keoladev Ghana National Park' situated?

9. 5. @Al BT g [bAd d4 §aTl?

The war of Khanawa occured between whom?

. 6. [ UM dg B 1 87
Which is the oldest 'Veda'?

. 7. Y9Rd W AN 7 30T e fhar om?
When did Gauri attack on India?

(i) $.9.3./PT.0.



. 10.

11,

.12,

.13,

. 14,

. 15.

. 16.

7.

. 18.

I T & g Aa13l & AW foRaul

Write the nhame of two leaders of Naram Dal.

IR T o TS Bid A?

Who was the founder of Arya Samaj?

ot 3 fromar forg

Write two characteristics of Bank.

3l UTpfre FATeAT & A9 faReu)

Write the name of two nature resources.

SferaTaret 9 § Meft o9 Toft off?
When did the bullet hit the Jallianwala Bagh?

IRV & TRAT B §7

Who is the author of Ramayan?

S o & 24 J drefaR piF §?
Who were the 24t Trithankar of Jain Religion?

U ATl T IAUTT D ZIAT?
When was the Anuvrat movement started?
Afgar= & frafor § feaar T5a e

How much time taken in creation of constitution?

e & G UTH &1 9 NP ford |

Write the two Fundamental Rights according to Constitution.

Ty gatef & 1 ford |

Write the name of rich protein foods.

(i)

9. 19. TEas $f ASS T o aTg Pl AT e 87

What is the right proportion in breadth and length of the National
Flag.

T, 20. PITENT FT 872

What is Black Marketing?

gus - ‘¥’ / Section 'B'

AGTRIHD e (IS UId)SHORT ANSWER TYPE QUESTIONS (ANY FIVE)

5x3=15
IHT A 3T g7 TS 8?2
What do you mean by Earthquake?

JTpeR Pl IoTge el T qui hifr
Describe the Akber's Religious Policy.

1857 Pl pIf<d &b IRIBAT &b HRUT IATU|

Give the reasons of the failure of the rebellious of 1857.

IYNTRAT J 3T T FHS 82

What do you mean by Consumer?

docfiepeur =T 87
What is Globlization?

S g B fa9war @ forg |

Write the character of Jain Religion.

ST U1 &b NP T<al BT au |

Describe the barrior points of National Unity.

(iii)



(vi) Openthedoor. 127 Q. Paper Code : BPP0O2

Q. 7. Fill in the gaps with the correct form of the verbs. DISTANCE EDUCATION EXAMINATION - 2019
(i) Mohan.............. (come) to see me last week. BACHELOR PREPARATARY PROGRAMME (BPP)
(II) The train........... (go) before | came. PAPER - Il : GENERAL ENGLISH
(iii) He........ccevs (go) to cinema daily.
(iv) She..... (work) in this office since 1942, Time : 3.00 Hours M.M. 70
(V) e (walk) is good exercise. v
(vi) My father............... (have) bye-pass surgery next week. Section "A
Q.1 Objective type questions (Choose correct answers) (Any Ten)
Q. 8. Fillin the blanks with suitable modals given below. (can, may, must, 10x1 =10
could, should, mustn't)
[ I T speak English. (i)  Sheusually............ (go) to cinema with her mother.
(i)  Work hard lest you............ fail. (a) go (b) goes
(iii) He.coocneee. swim very well in his youth. (c) went (d) had gone
(iv) | come insir? .
(v) Itis no smoking zone so you.......... smoke here. (i) TheMoon.......c..c... round the earth.
(vi) You are not well at all. You............ see a doctor at once. (a) moves (b) move
(c) moved (d) will move
Q. 9. What is conjunction. Write the difference between co-ordination .
T o (iii) Thereis....ccccccunnnes apple on the table.
and sub-orination. Explain it by examples.
(a) a (b) the
Q. 10.What is 'verb' explain transitive and intransitive verbs. (c) an (d) x
' ' . . (iVv) i Sun rises in the east.
Q. 11. Explain briefly "The part of speech". e (a) A (b) An
(c) The (d) x
(v) Comeandsit.............. me.
(a) in (b) beside
(c) of (d) at
(vi) The Rajdhani express with depart......... 4,30 P.M.
(a) at (b) on
(c) in (d) from

(iv) (i) PT.O.



(viii)

(ix)

(x)

(xi)

(xii)

(xiii)

(xiv)

(xv)

............ is good exercise.

(a) walk (b) walks
(c) walking (d) to walk
............. my work. | went to market.
(a) Finishing (b) Finish
(c) Finished (d) To finish
YoU...oooeeennnn. drive fast.
(a) should not (b) should
(c) may (d) can
leveireeeen, lift this Box.
(a) can (b) may
(c) should (d) used to
Mohanis............. intelligent.......... Sohan.
(a) as-as (b) than
(c) then (d) more
The Tajmahal is the............. beautiful building in India.
(a) good (b) most
(c) more (d) best
i I a king | would become you my Queen.
(a) being (b) were
(c) was (d) am
Ladnun is big city.............. every body is literate here.
(a) Which (b) where
(c) whose (d) when
Dangal is good movie............. | like most.
(a) which (b) who
(c) whose (d) when
(ii)

(xvi) Heis........... POOT........... pay his school fees.

(a) too-to (b) so-that
(c) either-or (d) nither-nor

(xvii) Ravan........... by Ram.
(a) was killed (b) were killed
(c) are killed (d) is killed

(xviii)Why did you write a letter. This is a/an sentences.
(a) Assertive (b) Interrogative
(c) Imperative (d) Exclamatory

(XIX) ceeereinnn Kota nor Bikaner is capital of Rajasthan.
(a) Either (b) Neither
(c) Each (d) Every

(xx) All men are mortal.
(a) Adjective of number (b) Adjective of Quanity
(c) Interrogative adjective (d) Possessive adjective

Section 'B'
Short answer type questions (Any Three) 3x5=15

Q. 2. What is 'linking verb' explain it by examples.
Q. 3. What is the difference between 'participles' and 'gerunds'.
Q. 4. Where should we use Degree positive? Give examples.

Q. 5. Define 'Noun' and write types of Nouns.

Section 'C’

Answer in detail (Any Five) 5x9=45
Q. 6. Change the following sentences into passive voice-

(i)  Ram was crossing the river.

(ii) He gave me a book.

(iii) 1 write a letter.

(iv) Whydid you write a letter?

(v) Whowon the match?

(iii) PT.O.



(xiii) § BT AIg FT, TaT AT TAET, HT & g H SN 3R 7 § HHET

I @1 aref ferRau|

(xiv) PR, PP, UG, P P ar-ar aref forRau|
(xv) VAT P ABTTAT BT U HIFTTI

s -

agmcdd ued (fa=df 9 veai & S difv)- 3x5=15

9. 2.

9. 3.

9. 4.

Ty A1 Bl T faQisaati a1 aReg S|
fa=al Pred T YU HleRd &R BT gui BT

ERIEM

. e ffean (Ffaa Areas) 6 fRivamit @1 quF a|

s - 9

g ®e e (f5=d 9 uel & SR ) - 3x15=45

9. 6.

9. 8.

9. 9.

U IER T GEATET AT IaRAT 31T JIfFIfAd fastett skl
R FIER 49 B UNd & &g I Ruie faRau)

. FEF! & TG @l DI AHDBR! MY AR I Bl HEAT Dbl

e Iy

SEAIR W 39 T FHS &7 $9P AT Pl gaTsu|

Siteft, Ror, arfad SR g g # @ g a1 & Rwg A
foTRau |

T, 10. WA HF &R 1 g o= Hifm

*e
(i)

126 Q. Paper Code : BPPO1

I UIqIHT udtEn - 2019
dger Hikedt ghm (&fdh.dt)

o UF : WY it

T ¢ 3.00 €0 quifes : 70
gus - 3

q. 1. sffiereRcTs e (fh=df <0 ueal & Sw dRIg) 10x1=10
(i) 9T Gfes § ara & feae qraret @ Jaar ue 87
(i) dIeTen S H T TghEl B g |
(iii) T BT TR & TG DA AR ITb B BT AFIeerd DIy
(iv) Qfcrepter oY greaa: feaet difcdl & war T 22

(v) Spfd HfrefleroT T0 7 IS AT B SN $H & oIy AR
B {5 ueR Ui far 82

(vi) T BT H yg-awg F1 v IR

(vii) 3Tt &Y vRATe Tt gl a1 wamTen & A1 fora|
(viii) STISPR TAIS & &I AIedi &b A fIRau|

(ix) . aRmETR® & TgE aw@i & 9M forkay)

(x) T==H1, IR 3R geaft & dH-H gaigart e foran|

(xi) 3T, §&F 3R DR & faam forka|

(xii) FeneTfer, ST, -3 IR Igys o w9 fowg Hifog|

(i) $.9.3.
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gus - ‘A’ [ Section A’

oIS U (D13 <9) / VERY SHORT ANSWER TYPE QUESTIONS (ANY TEN) (10 x 1 = 10)
(i) e A= &1 GRS HIATI / Define the non-empty set.
(ii) 0.25 @ mfcerd # faRau | / Write the percentage of 0.25.
(iii)y =IO et $t gReamr €Tl / Define the right angle triangle.
(iv) % d % &1 QN s difoidl / Find the sum of % & %.
(v) T 3o Fe&dT ffRaul / Write the first prime number.
(vi) 10,15 @ TgTH F9Yaad (.9, ) S difrg|

Find the LCM of the 10,15.
(vii) DI T a2 2? / What is the purchasing price?
(viii) =g B ufriyg Hif

Define the line.
(ix) U@ 3 & Dol HT TN a7 8Iar 87

What is the sum of the angles of one tringle.
(x) |9 G @ et 82

What is the even numbers?
(xi) 484 P T T Diidl/ Find the square root of the 484,
(xii)  (10,15) ¥ PIfc a7 &2 / What is the order of (10,15)?
(xii)  3,6,15,46 &7 AT ST HIRTUI / Find the average of the 3,6,15,46.
(xiv) & dIvg I / Solve-

2/3 _ 7/2
(xv) SarEod a9 faRaul / Write the Associative law.
(xvi) IS v gq &I fHoar 14 AL & aF A6 afvfer sma Hifrg)

If circle radius is 14 cm then find the perimetar {circumference) of circle.
(xvii) ufe % @ aRerfyd S

Define the rational number.
(xviii) Y @I A 5T @91 / Find the value of Y.

Y:5=3:10

(xix) UTSTIIRY Y9I F7 &2 / What is the phythogorus thorem?
(xx)  Uod T=F B GRIT BT / Define the singleton set.



¥us - ‘q° / Section 'B'

STEERIAD U (P13 Uid) SHORT ANSWER TYPE QUESTIONS (ANY FIVE) 5x3=15
9. 1. i gaed 600 %. a1 <% 8 ufcrera dem 94 3 99 8| 79 ATLRUN &1 S DifoT|
If principal is 600 Rupee, rate is 8% per annum and time is 3 years then find the simple
interest.
1 1 5 :
g2 f= P B 924 g ged P H foIlRgul
1 1 5
Write the ascending and descending order of the fraition '8 11
U. 3. g Hifvg- / Solve-
4.057 + 12.9508 - 5.3980
9. 4. 216 &7 g 31a Hiugl/ Find the cube root of the 216.
0. 5. &g Hifw- / Prove that-
ANB=A 3 3R daa afe (if and only if) ACB.
9. 6. I
(x +3) (x —3) = 7 99 X B I 1 I |
If (x+ 3) (x —3) = 7 then find the value of x.
Y. 7. TP 3T & & BT 40 § 50 § T AT DT S Dol
If two angles of a triangle are 40 and 50 respectively then find the third angle.
9. 8. AW STA 3R | / Find the value.
1003 x 997 - 1002 x 998
9. 9. 18270 & foHd Tl ¥ 9N &1 IR 99 9Nt 186 TAT ATHA 42 37T &1 WD I
B
On dividing 18270 by a certain number the quotient is 186 and the remainder is 42.
Find the divider.
9. 10. @0l & TR forfan |
Write the types of the angles.
Hus - ‘9’ / Section 'C’
e ue (1 M) ESSAY TYPE QUESTIONS (ANY THREE) 3x15 = 45
U. 1. g HRmwi / Prove that-
~(pve [(~p) gl = ~P
U. 2. 1 @1 AewH wHvacd (7.49.) S ST

Find the HCF of the following-

1 1 7
2-, 5-and -
3 3 3



9. 3.

J. 4.

Y. 5.

9. 6.

foe=1 gual @1 aNThet SR U ST BT |

Find the sum and multiply (Product) of the following polynomials.

2a®> +3a’h—5&7a*h—5a+6

Tle Y AT I 90° vg 120° St 1 ot g19y T 39T fehar fafér foafam)

Draw the angle of 90° and 120° digree with the help of protector and write the process.
g1 DTl / Solve

(x?—=3x+5) = (x—2)

IS T ga 1 aRfYy 13.2 | 8 79 g0 ol (31 T &3thel S1a DI |

If circumference of a circle is 13.2 cm then find the radius and area of the circle.

1224



